
p
di-J/ψ
T [GeV/c] 2.0 < ydi-J/ψ < 3.0 3.0 < ydi-J/ψ < 3.5 3.5 < ydi-J/ψ < 4.5

0 – 1 0.626± 0.072± 0.037 0.426± 0.035± 0.025 0.334± 0.029± 0.020
1 – 2 1.140± 0.103± 0.068 0.763± 0.055± 0.045 0.611± 0.037± 0.036
2 – 3 1.237± 0.137± 0.071 0.881± 0.046± 0.050 0.707± 0.040± 0.040
3 – 4 1.054± 0.084± 0.060 0.823± 0.051± 0.047 0.665± 0.038± 0.038
4 – 5 0.874± 0.063± 0.052 0.648± 0.038± 0.039 0.486± 0.030± 0.029
5 – 6 0.679± 0.060± 0.040 0.469± 0.027± 0.028 0.375± 0.026± 0.022
6 – 7 0.483± 0.036± 0.029 0.339± 0.021± 0.020 0.263± 0.020± 0.016
7 – 8 0.390± 0.031± 0.023 0.201± 0.014± 0.012 0.139± 0.014± 0.008
8 – 10 0.192± 0.014± 0.012 0.123± 0.007± 0.008 0.112± 0.008± 0.007
10 – 12 0.105± 0.009± 0.007 0.052± 0.004± 0.003 0.042± 0.005± 0.003


